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1. How many paise are there in one rupee? 
2. Change Rs. 9.75 into paise
3. Change 78924 p into rupees
4. Add Rs. 7685.25 + Rs. 8762.75 + Rs. 1832.50
5. Subtract Rs. 5659.25 – Rs. 2987.70
6. Multiply Rs. 567.75 x 7
7. Divide Rs. 64.80 ÷ 4
8. Raju bought tomatoes for Rs. 454.20 potatoes for Rs.563.40 and onions for Rs. 76.80.find total money he spent.
9. Solve 
(a)	Rs. 45.09 into into paise
(b)	6768 p into rupees
(c)	Rs. 87.25 ÷ 5
(d)	345p x 4
(e)	Rs.654.80 x 7
10. A fruit seller earns Rs. 676 daily. How much money will he earn in 16 days?
11. Ratna purchased books for Rs.6757. She gave Rs. 7000 to the shopkeeper. How much money she get back?
12. Mona purchased books for Rs.345. She gave Rs. 500 to the shopkeeper. How much money she get back?
13. A fruit seller earns Rs. 676 daily. How much money will he earn in 16 days?
